@ I? n Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
7 | 2 2
4= = S+l
8 6 5 7
4 4 4 2
AT 412 =
9 6 6 5

2 3 4 4
12 +2 = 4 =
5 8 9 9

3 2 2 5

9 7 9 7

7 1 3 2

~ 4o = S
9 5 9 5

1 5 77

7 6 8 9

3 7 3 1

Z 4+ - = 4 - =
4 8 72

3 1 1 1
Z4l-= 4o =
8 5 4 7

3 2 4 4
4+ == — 4+ - =
4 9 8 8

2 6 5 1
Zh = S+l =
3 9 6 4
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@ r? n Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
7 1 49 1 2 2 24
—+]l-=—=2— —+—=—
8 6 24 24 5 7 35
4 4 10 1 4 2 3l 1
—+-=—=1= —tl-=—=2—
9 6 9 9 6 5 15 15
2 3 71 31 4 4 8
l-+=-=—=1— — 4+ —=—
5 8 0 40 9 9 9
3 2 13 2 5 59
4+ == 4+ ==
9 7 1 9 7 3
7 1 44 3 2 26 11
lio= Zr1E=2=1—
9 5 45 9 5 1 15
1 5 41 7 7 119 47
4= R s
7 6 2 8 9 7T 72
3 7 13 5 3 1 13
e B T4 = =
4 8 8 8 7 2 1
3 I 63 23 I 1 11
stl-=—=1— —t+=-=—
8 5 0 40 4 7 8
3 2 35 4 4
e =1
4 9 3 8 8
2 6 4 1 5 1 25 1
—+-—==-=1= —tl-=—=2—
3 9 3 3 6 4 1 12
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